o] °EN] °El] Al El0 El] El0 El0 El0 E *E *E *E *E °E
To
,-'f’ n
o _,"f A
= M
/H kS
-~ W Toa
- Jo3
A
- !
T - A
Fis - _%\
13
: q142 9193 g2qs
U=k, nge , 0193 , 929
v 112 "3 rog .

i‘] ollN oHENN *ENN oENN AN EN EN o EN oEN EN M oEN ElN Ml EN ENN ENN M ENN ENN oENN oENN oENN ooEN

Coaadall Gyl Gasany (4l g8l agal) B
The Electric Potential Due to Two Point Charges
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Obtaining the Value of the Electric Field from the Electric

Potential: i
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Finding the electric field from the potential

The Electric Potential Due to a Dipole
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Electric Potential Due to Continuous Charge Distributions
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Electric potential due to a continuous charge distribution
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